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> restart;

with(plots):
with(LinearAlgebra):

[ 7 — 49 ZFHRHAD.
> ndata:=8:

T:=[seq(fl(i),i=1..ndata)]:

[7—% n&R
> listplot(T,connect=false);
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> f:=t->al+a2/(a3+(t-a4)"2);
nparam:=4:
a2

a3+ (t—a4)?
(T aAE 7Y OROMS EFRERE LTES.

> for i from 1 to nparam do
dfda| |i:=unapply(diff(£f(x),al|i),x);

f=t—al +

end do;
dfdal =x—1
dﬂm2:=xA+44444J44447f
a3+ (x —a4)
dfda3 = x— - a2

(a3+ (x—ad)?)’
a2 (-2x+2a4)
(u3 + (x— a4)2)2

CIMEERELT, F—4EEbICERERT,

> gl:=Vector([1,8,1,4.5]):

guessl:={}:

for i from 1 to nparam do

guessl:={op(guessl),a||i=gl[i]};

end do:

guessl;

pl:=plot(subs(guessl,f(x)),x=1..ndata):

display(1l1,pl);
{al=1,a2=8,a3=1,a4=45}

dfda4 :=x— -
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f1 = t—subs| {al =1,a2=10,a3=1,ad =4},al + ————————
a3 + (t—a4)
ll:=listplot(T,connect=false):
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)

fl:=t->subs({al=1,a2=10,a3=1,a4=4},al+a2/(a3+(t-a4)"2) );

(2.3.1)
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(2.3.3)



> interface(displayprecision=3);
df :=Vector ([seq(subs(guessl,T[i]-f(i)),i=1..ndata)]);
3

0.396
0.897
2.538
3.600
-1.400
-0.462
-0.103
-0.016

> Jac:=Matrix(ndata,nparam):
for i from 1 to ndata do
for j from 1 to nparam do
Jac[i,j]:=evalf (subs(guessl,dfda||j(i)));
end do:
end do:

> Jac;

1.000 0.075 -0.046 -0.319
1.000 0.138 -0.152 -0.761
1.000 0.308 -0.757 -2.272
1.000 0.800 -5.120 -5.120
1.000 0.800 -5.120 5.120
1.000 0.308 -0.757 2.272
1.000 0.138 -0.152 0.761
1.000 0.075 -0.046 0.319

0.565 0249 -0.354 0.040 0.040 -0.354 0.249 0.565
-2.954 -0.506 4.012 -0.552 -0.552 4.012 -0.506 -2.954
-0.352 -0.029 0.557 -0.176 -0.176 0.557 -0.029 -0.352
-0.005 -0.012 -0.035 -0.080 0.080 0.035 0.012 0.005

tlac =

> g2:=tJac.df;
gl:=gl+g2;

(2.3.4)

=> tJac:=(MatrixInverse (Transpose(Jac).Jac)) .Transpose(Jac);

-0.235
5.592
0.613
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13.592
1.613
3.980
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> guessl:={}:

for i from 1 to nparam do

guessl:={op(guessl),a||i=gl[i]};

end do:

guessl;

pl:=plot (subs(guessl,f(x)),x=1..ndata):

display(11,pl);
{al =0.765107054282076260, a2 = 13.5919251223407489, a3

=1.61274649042098117, a4 = 3.98049166112393404 }
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EHUPT VWO TERIDE. 2ROBEEZERIZ20THL, SEBHELDIAHE
WD hLevenberg-Marquardt ;5 T#% 3. BARAEESIH Numerical Recipes
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> ndata:=256;
fl:=t->subs({al=10,a2=40000,a3=380,a4=128},al+a2/(a3+(t-
a4)”2) );



L T:=[seq(fl(i)*(0.6+0.8*evalf(rand()/10712)),i=1..ndata)]:
> f:=t->al+a2/(a3+(t-ad)"2);
TEBMULIcEED/INT X —Fal,a2,a3,a4&RD K. 212U, /8T X —5 DYIHRE

&, HBEEEWMEICLBRWEIEELZW,

Y Maplelc & 2 fEEDigEt
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| > with(LinearAlgebra):
T EHmMAD,
| > datapoint:=[seq([i,T[i]],i=1..256)]:
A—-LYVEORHKEREL, BHELTER
> fi:=atb/(ct(x-d)"2):
f1l:=unapply(f,x);
fl=x—a+ 4444&444?
c+ (x—d)
[P OET Y OROMAEH R E LTER
> dfda:=unapply(diff(f,a),x):
dfdb:=unapply(diff(£f,b),x):
dfdc:=unapply(diff(f,c),x):
| dfdd:=unapply(diff(f,d),x):
VHEZRELT, T—YE&EbICBHEzRT
> guessl:={a=10,b=1200,c=10,d=125};
plot([datapoint,subs(guessl, fl1(x))],x=1..256);
guessl = {a=10,b=1200,d=125,c=10}
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> ndata:=256;
f1:=t->subs({a=10,b=40000,c=380,d=128},a+b/ (c+(t-d)"2) );
f2:=t->subs({a=10,b=40000,c=380,e=90},a+b/ (c+(t-e)"2) );
T:=[seq((fl(1i)+£f2(i))*(0.6+0.2*evalf(rand()/10712)) ,1i=1..
ndata)]:

=
> f:=t->al+a2/(a3+(t-a4)"2)+a2/(a3+(t-a5)"2);
a2 a2

2 + 2
a3 + (t—a4) a3 + (t—ab)
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> 1l:=listplot(T):
display(11);

f=t—al + 3.2.1)
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